Deviation [sigma] Deviation [sigma] Flux

Deviation [sigma]

1.00

0.10

0.01

20

10

-10

-20

20

10

-10

-20

20

10

-10

-20

AQL_X-1-PCA-3266-MJID53474.50821_Ic.txt / MJID 53474.508196 / burstid=3266

: . Grey line: exponential fit Peak flux: 2.065+/- 0.023 c/s/cm? :
plack Ihe: power law * gauss it Fluence : 58.02+/- 0.71 clem’
= P Duration : 103.95+- 1.64 =
- Best fit model: 3. ]
L Best fluence model: 3. ]
- Best duration model: 3. .
S R ST Al
= LN =l
C ‘ \ hjin
S L T | | il
; Exponential fit * é
= Expon.time: 33.27+/- 0.62 s (chi>-red= 13.13) =
- ﬂ -
= h | E
E ot p by, 1 | P Pt =
- AT TRy T T IR | it Pt i
= f % ol AT R T I e E T e T
- ﬁﬁ%f | I MW UL A T WH% it ﬁﬁ“ﬂﬁm i HH@%
= gt b
= it E
; Power law fit é
E Power law index: -1.240+/- 0.006 (chi*-red= 9.57) =
S b ]
SRR ﬁ } gt Hﬁ HHT Pt B
SN U | P T * bty g
= ﬁH | M Hﬁwﬂﬁ P H+lﬁ%ﬁf*ﬁﬂm I, Mi e W * *w 1 i w MW Hm wmﬂﬁ
= ! PR R T OH ETE A T R 3
- %W* | ﬁ Hﬁw Hm iy 1 'y Y f Pty -
i T T T T T T T T T T T T T T T T T T T T T i
— Power law fit plus Gaussian (st.dev.= 60.36+/- 0.49 s, fracgs= 0.35+/- 0.01) =
= Power law index: -2.107+/- 0.042 (chi’-red= 3.68) 3
% i T A T Mi i ﬁ:*ﬁm iy X i X ﬁ Hﬁuw b
= AT T T PH T b e et 0
- ﬁﬁﬂ Hﬁ* f A ”W i N I +f ﬁm*jﬁ Mﬂgﬂ RSN T iy ﬁ w it Wuﬂ m ﬂﬁg
= | =
E 1 L L L L L L L L L 1 L L L L L L L L L 1 L E
0 100 200 30

Time [s]

0



